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GERMANY 1848-1991

ANSWERING QUESTIONS AT AS LEVEL

When you are preparing for the AS Examination remember that you will be asked to engage in extended writing. With the Edexcel and OCR examination boards you will be expected to produce an essay style answer. For the AQA examination board you will be expected to answer a structured question of two parts on the same topic.

INSERT

What is the difference between GCSE and AS History?

Using your Germany 1848-1991 textbook the differences and similarities are explained on pages 4 and 5.

Here are 3 examples of AS examination questions in the style of AQA, Edexcel and OCR.

In each case an example answer is given. Within the body of the answer there are Examiner Tips which highlight the strengths and weaknesses of the answer.

At the end of each answer a mark is awarded.

How to Approach Writing an Answer

The information you need is contained on pages 5 and 7 of your Germany 1848-1991 textbook.

This information will be used in answering the three sample questions below.

AS Questions

An Example in the Style of EDEXCEL

UNIT 1 Option E:-

The Expansion and Challenge of Nationalism

E2 The Unification of Germany 1848-1890
Examination Time: 1 hour 20 minutes.
You are required to answer TWO essay style questions.

The approximate time you should spend on the example question below is 40 minutes.

To what extent was Bismarck’s diplomacy the main reason for the unification of Germany in the period 1864-1871?
What is required to answer the question?
The command instruction

‘To what extent’ will require you to use your knowledge and understanding of the unification of Germany to produce a balanced ‘for and against’ the assertion in the question that Bismarck’s diplomacy was the main reason for the unification of Germany.

You will be expected to explain how Bismarck’s diplomacy led to unification.

You will also be expected to explain other reasons why the unification took place.

These could include:-

· Economic reasons, such as the Zollverein and industrial development.

· The role of the Prussian Army

· The foreign policy of Napoleon III of France.

What are the Terminal Dates in the Question?

You are expected to limit your answer to the years 1864 to 1871. This will mean you will have to cover the period from the Danish War over Schleswig-Holstein to the creation of the German Empire, in January 1871.

REMEMBER

· Make a brief plan of how you are going to organise your material.

· Write an introductory paragraph explaining what you plan to cover.

· Write a separate paragraph for each point you make.

· Write a concluding paragraph which offers a JUDGEMENT on the question.

In each paragraph DO NOT FORGET to:-

· Make an analytical point

· Support it with factual evidence

· Ensure that you make an explanation which links the point directly to the question
AN ESSAY ANSWER

Between 1864 and 1871, German was united into one state under the leadership of Prussia. In this period, Prussia won three wars against Denmark, Austria and France to achieve unification. The Minister-President of Prussia was Otto von Bismarck whose diplomacy was a major reason for Prussia’s success. However, was it the main reason for German unification under Prussian leadership?

COMMENT

This is a good introduction. It is focused clearly on the question. The final sentence sets up the possibility of producing a balanced, analytical answer.

LINKS TO GERMANY 1848-1991

The information you need, which covers the whole topic in this question can be found on pages 55-56 under 3.10 
Was German Unification primarily the result of successful Bismarckian diplomacy?

In 1864, Prussia and Austria won a war against Denmark over the duchies of Schleswig and Holstein. The Danish King, Christian IX, had attempted to absorb these two duchies into Denmark. The two duchies had large German speaking populations with Holstein being part of the German Confederation. The war was a success for Prussia and Austria. At the end of the war Prussia received Schleswig and Austria received Holstein. The war was seen as a triumph for Bismarck’s diplomacy because he had helped create the agreement between Prussia and Austria to fight together against Denmark.

COMMENT

This paragraph contains lots of accurate factual detail. However, it lacks a clear analytical focus linked directly to the question.

The paragraph should begin with a statement which offers an assessment of Bismarck’s diplomatic skills.

At this point in the answer an explanation of Bismarck’s aims and his preferred method of diplomacy, Realpolitik, would have been more appropriate. Although the answer displays good knowledge this should have been used to support an argument related directly to Bismarck’s diplomacy.

LINKS TO GERMANY 1848-1991

The information that you need for this paragraph can be found on pages 46-47

After the Danish War, Bismarck’s diplomacy was the main reason why Prussia was able to defeat Austria in the Seven Weeks War of 1866. Bismarck planned to make Prussia co-equal in power and status with Austria within the German Confederation. Austria refused to see a change in status, where Austria was the dominant German power with control over the presidency of the Confederation. Between 1864 and 1866 relations between Austria and Prussia deteriorated to the point where war broke out between them in 1866.
COMMENT
This is a much better paragraph. It begins with a statement that is linked directly to the question. It also sets out Bismarck’s aims. It would have been more appropriate if this was the second paragraph, following the introduction.

LINKS TO GERMANY 1848-1991

The information that you need for this paragraph can be found on pages 42-45.

Bismarck’s diplomacy helped ensure that Prussia would be victorious. In 1865 Bismarck came to an agreement with France when he met the French Emperor, Napoleon III, at Biarritz, in France. France offered to remain neutral in a future Austro-Prussian War. In 1866 Bismarck signed an alliance with Italy. If Austria and Prussia went to war Italy would join Prussia in return for the Austrian province of Venetia, which was Italian speaking. Finally, Bismarck was able to ensure that Russia stayed neutral. Prussia had helped Russia in the defeat of the Polish Revolt against Russia, in 1863. Also, Russia was unlikely to join with Austria because Austria supported Britain and France in the Crimean War of 1854-1856. Therefore, before the war began Bismarck had isolated Austria diplomatically.

COMMENT

This paragraph offers a clear, structured linked to the question. It begins with an analytical point. This is then support by factual evidence of Bismarck’s diplomacy before the Seven Weeks War. However, the factual material might have been organised slightly differently with coverage of relations with Russia coming first. Also there is no reference to the immediate cause of war following the Convention of Gastein and Prussia’s attempt to reorganise the German Confederation, which was the immediate cause of the war.

LINKS TO GERMANY 1848-1991

The information that you need for this paragraph can be found on page 47

In the Seven Weeks War the Prussian Army was victorious. At the Battle of Sadowa the Prussians heavily defeated the Austrians. Bismarck made sure that the war would end quickly by persuading the Prussian King to sign a peace treaty before attacking Vienna, the Austrian capital. In the Treaty of Prague, 1866, Austria gave up its dominant role in Austria. The German Confederation was destroyed and replaced, in 1867, with the North German Confederation under Prussian leadership. Prussia was now the dominant state in Germany.
Prussia also signed a military alliance with the three South German states of Baden, Wurtemburg and Bavaria who would join Prussia if the latter was at war.
COMMENT

This paragraph is heavily descriptive. Although the factual material is accurate it doesn’t explain the role of Bismarck’s diplomacy in relation to the unification of Germany in a direct way. It could be rewritten with a clearer emphasis on the question.

LINKS TO GERMANY 1848-1991

The information that you need for this paragraph can be found on pages 47 -49

From 1867 to 1870 France attempted to gain territorial compensation from Prussia for its neutrality in the 1866 War. In 1868 it attempted to annex Luxembourg but this was thwarted by Bismarck who ensured an international treaty of the Great Powers declared Luxembourg independent. 

In 1870 the Spanish throne became vacant and the Spanish government offered the throne to a member of the Hohenzollern family, who also ruled Prussia. France feared that it would be faced with a pro-Prussian Spain on its southern border and demanded the withdrawal of the Hohenzollern candidate. Even though the Prussian King withdrew his family member as a possible candidate for the Spanish throne, the French government demanded that the Prussians would not put up a candidate for the throne ever again. At this stage Bismarck intervened. He sent the Prussian reply in the form of a telegram. The Ems Telegram was worded in a way to insult the French, who, in response, declared war on Prussia in 1870. The war saw the three South German States join Prussia as a result of the military alliance of 1866. By 1871 France was defeated and Bismarck was able to proclaim the King of Prussia as German emperor of the German Empire.

COMMENT

This paragraph contains both analysis of Bismarck’s diplomacy and detailed factual evidence relevant to the subject. However, it is written in a narrative way. To make this paragraph more effective greater emphasis needed to be placed on assessing Bismarck’s diplomacy.

Use the advice mentioned on how to answer the question above:-

*Make an analytical point

*Support it with factual evidence

*Ensure that you make an explanation which links the point directly to the question
LINKS TO GERMANY 1848-1991

The information you need for this paragraph can be found on pages 50-53

Although Bismarck’s diplomacy was very important in bringing about the unification of Germany under Prussia it was not the only reason. By the 1860s Prussia was already becoming the dominant German state because of industrial development. By 1834 Prussia was the major state in a German customs union (the Zollverein) which included most German states, except Austria. Also, the development of railways made Prussia the centre of the German rail system. Also, Prussia contained the Ruhr and Upper Silesian coalfields which formed the basis for Germany’s major industrial regions.

So it wasn’t just Bismarck’s diplomacy which led to the unification of Germany under Prussia. Prussia was also the dominant German economic state by the 1860s.

COMMENT

This is a good paragraph. The answer offers a balanced view on the unification of Germany by identifying other factors which contributed to the process.

LINKS TO GERMANY 1848-1991

The information that you need for this paragraph can be found on pages 38-40

Another important reason was the strength of the Prussian army. Bismarck’s diplomacy would have not been so effective if the Prussian army had not won important victories, in particular against the Austrian and French. The leadership of von Roon, the Minister of War and von Moltke, the army commander, were central to Prussian success.
Finally, the diplomacy of France over the Hohenzollern candidature for the Spanish throne gave Bismarck the opportunity, through the Ems Telegram, to engineer a situation where France declared war on Prussia in 1870, thereby allowing the South German States to join the Prussian side in the Franco-Prussian War.

COMMENT

This is another good paragraph which deals directly with reasons for German unification.  

LINKS TO GERMANY 1848-1991

The information that you need for this paragraph can be found on page 41
In conclusion, Bismarck’s diplomacy was the main reason for the unification of Germany under Prussian leadership in the period 1864 to 1871. He cleverly isolated Austria in 1866 and engineered a war with France in 1870. However, Bismarck was aided in his diplomacy by the industrial and military power of Prussia.
COMMENT

This conclusion is clearly linked to the question. It briefly assesses Bismarck’s role and also makes a reference to the other factors mentioned in the second half of the essay. The conclusion makes a JUDGEMENT required by the question.

LEVEL OF PERFORMANCE

This answer is focused on the question. However, in the early part of the essay there is considerable narrative-description. In particular, paragraph 2, was a general narrative which was not linked clearly to the question. 

The answer did attempt a balanced analysis and did offer a judgement on the question in the conclusion.

The question is out of 30 marks.

This response achieved a Level 3 answer 13-18 out of 30.

The answer attempted analysis and showed some understanding of the focus of the question. It includes material which is descriptive, and only implicitly relevant to the question’s focus. Factual material is accurate but is not always relevant to the question.

The writing is coherent in places but occasionally lacks proper organisation.

This answer received a mark at the top of Level 3= 18 out of 30 marks.

An Example in the Style of OCR

F962

European and World History Period Studies

Option B:1795-2003
Examination Time: 1 hour 30 minutes.

You are required to answer TWO essay style questions.

Approximate time to spend on the example question will be 45 minutes.

How far was the political weakness of the Weimar Republic the main reason for Hitler’s rise to power by January 1933? 

[50 marks]

What is required to answer the question?
The command instruction

‘How far’ will require you to use your knowledge and understanding of Hitler’s rise to power to produce a balanced ‘for and against’ the assertion in the question that it was the weakness of the Weimar Republic which was the main reason for Hitler’s rise to power.

You will be expected to explain how weaknesses in the Weimar Republic led to its downfall.
You will also be expected to explain other reasons why the unification took place.

These could include:-

· Economic reasons:- the Depression from 1929
· Hitler’s skill as a politician
· Divisions amongst Hitler’s opponents.
What are the Terminal Dates in the Question?

You are expected to limit your answer to the years leading up to January 1933. However, there is no starting date so an explanation of the weaknesses of the Weimar Republic back to 1919 would be appropriate.
REMEMBER

· Make a brief plan of how you are going to organise your material.

· Write an introductory paragraph explaining what you plan to cover.

· Write a separate paragraph for each point you make.

· Write a concluding paragraph which offers a JUDGEMENT on the question.
In each paragraph DO NOT FORGET to:-

· Make an analytical point

· Support it with factual evidence

· Ensure that you make an explanation which links the point directly to the question
AN ESSAY ANSWER.
On January 30th 1933 Adolf Hitler was made German Chancellor by President Hindenburg. His rapid rise to power from 1930 was spectacular. In rising to power Hitler was aided by major weaknesses in the political system of the Weimar Republic.
COMMENT

The introduction is focused on the question. It ‘sets the scene’ for what will be discussed. However, it would have been useful to show that the answer will engage in balanced analysis and a statement about factors other than the political weakness of the Weimar Republic would have been more appropriate.

LINKS WITH GERMANY 1848-1991

The information that you require for the whole question can be found on pages 117-141.

A major political weakness of the Weimar Republic was the voting system, based on proportional representation. This meant that political parties received approximately the same proportion of seats to the votes they received in elections. As a result, for most of the Weimar Republic the Reichstag comprised many political parties with no party having an outright majority. This led to the creation of coalition governments which caused political instability. From 1930 to 1933 Germany had four chancellors.
Proportional representation also aided the development of smaller, extreme parties. Both the Communist and Nazi parties benefited from this system of voting. Both these parties entered the Reichstag and used this opportunity to disrupt German democracy.
COMMENT

This second paragraph is linked directly and clearly to the question. It begins by identifying a major weakness of the Weimar Republic. This point is then supported by relevant factual information. Finally, in the last sentence this information is linked to an explanation of why the Weimar political system helped Hitler’s rise.

LINKS TO GERMANY 1848-1991

The information you require can be found on pages117-118 and 133-134.

Another major political weakness of the Weimar Republic was Article 48 of the Constitution. This article allowed the president to appoint the chancellor in a time of crisis even though the chancellor did not have majority support in the Reichstag. This article allowed President Hindenburg to appoint chancellors Bruning, von Paper and von Schleicher, in the period 1930 to 1933. More importantly it allowed Hindenburg to appoint Hitler as chancellor in January 1933, even though the Nazi Party received one third of the seats in the Reichstag. Without Article 48 Hitler could not have been appointed chancellor in the circumstances of January 1933.
COMMENT

This paragraph follows on clearly from the preceding paragraph by concentrating on weaknesses in the Weimar constitution. Again the answer follows the clear line of making a point, supporting it with factual information and providing an explanation linked to the question.

LINKS TO GERMANY 1848-1991

The information that you need can be found on pages 140-141.

The Weimar Republic was also affected by its links with the Treaty of Versailles. This treaty was seen as a humiliation by most Germans. It took away Germany’s empire and limited its army to 100000 men.

Most humiliating of all was the War Guilt clause which blamed the First World War on Germany. Linked to this clause was the issue of reparations. Germany was expected to pay for the entire cost of the war. This was calculated at 66 thousand million marks. This led directly to a period of hyperinflation in Germany, between 1922 and 1924 which almost ruined the German economy. 
COMMENT

This paragraph also provides another link to the weakness of the Weimar Republic. However, factual evidence in support of the point could have been more explicit in making connections with Hitler’s rise to power by January 1933.

LINKS TO GERMANY 1848-1991

The information that you need can be found on pages 131-133.

The Treaty of Versailles undermined German democracy and anti-Weimar parties, such as the Nazis, exploited German opposition to the treaty to gain votes. Many of the majority political parties in Weimar Germany opposed the Treaty. These included the DNVP, the DVP, until 1925 and the Nazis.

However, although weaknesses in the political system of the Weimar Republic were a major cause in the rise of Hitler it was not the only cause. Another major cause was the economic depression which began in the USA at the end of 1929. The depression caused widespread unemployment in Germany and considerable economic misery. It led directly to the collapse of the last truly pro-Weimar Government in September 1930. The rise of Hitler and the Nazis was linked directly to the development of the Depression. Before 1930 the Nazis were a small party. By 1932 they had become the largest single party in the Reichstag. Economic depression was exploited by both Nazis and Communists to show that Weimar democracy was not working.
COMMENT

This is a much better paragraph. A clear link to the question is made in the opening sentence. It also makes connections with other factors which led to Hitler’s rise. It makes direct reference to the impact of the Depression on the electoral fortunes of the Nazi Party.

LINKS WITH GERMANY 1848-1991

The information that you need can be found on pages 126-128.

Hitler was a very clever politician who exploited the Depression and the Treaty of Versailles to his own advantage. He was an excellent speaker and he used the fear of communism to win support from big business. Hitler’s propaganda and electoral campaigns won him Reichstag support. In 1932, he also stood for the post of president only to lose to Hindenburg. This gave him national recognition. Hitler was also effective at political negotiation. He was offered the post of Deputy Chancellor in 1932 but refused to join with Chancellor von Papen. It was only when he was offered the post of chancellor that he was willing to allow the Nazis to join a right-wing coalition government in January 1933.
COMMENT

This paragraph offers another reason for Hitler’s rise; his own ability.

It provides evidence of how Hitler exploited the economic and political situation in Germany from 1930 to his own advantage.

LINKS TO GERMANY 1848-1991

The information that you need can be found on pages 128-129 and pages 137 - 141.

Hitler backed his electoral campaign with the use of political violence. The Nazi Party had a paramilitary wing, the SA, who were uniformed and used to attack political opponents. Although most major parties had a paramilitary wing after 1930 the SA were the most ruthless and helped disrupt anti-Nazi campaigns.
COMMENT

This paragraph is also relevant but rather limited in factual information and explanation.

LINKS TO GERMANY 1848-1991

The information that you need can be found on pages 127-128

Hitler’s rise was also aided by major divisions amongst his opponents. The left wing of German politics was divided between Socialists in the SPD and the Communists. They spent more time attacking each other than meeting the threat of the Nazis.
COMMENT

Again, like the previous paragraph this one is relevant but limited in development.

Therefore, the weaknesses in the political system of the Weimar Republic were an important factor in the rise of Hitler. However, the onset of economic depression from 1929 led directly to the rise in support for the Nazi Party. I think the Depression was a more important reason than the political weakness of the Weimar Republic in explaining Hitler’s rise to power.
COMMENT

This conclusion is focused and comes to a JUDGEMENT based on evidence produced within the body of the answer.

LEVEL OF PERFORMANCE

The answer uses relevant and accurate factual information with an appropriate use of correct historical terminology. It is written in a clear coherent way.
Under the Generic Mark Scheme for Assessment Objective 1a this is awarded a mark in 1b of the Mark Scheme with 19 marks out of 21 marks.

There is clear understanding of the key concepts associated with the topic.

The answer is consistently analytical in structure with mostly developed and substantiated judgements. There are links made between factors.

Under the Generic Mark Scheme for Assessment Objective 1b this is awarded a mark in 1b of the Mark scheme of 22 out of 23 marks.

Total Marks of 41 out of 50 marks

An Example in the Style of AQA

Unit 1.

Russia and Germany 1871-1914
Examination Time: 1 hour 15 minutes

You are required to answer TWO structured questions of which an example of one is below.
Approximate time to answer this structured question is 35 minutes.

You should spend approximately 10 minutes on question (a) and 25 minutes on question (b).
(a) Explain why Wilhelm II embarked on a policy of Weltpolitik from 1897?

  (12 marks)

(b) How far did German foreign policy increase tensions between the Great Powers in the period 1897 to 1914? (24 marks)
Total Marks for the whole question [36 marks]
What is required to answer the question?

(a) This question will require an explanation of why Germany began its policy of Weltpolik. It is important to prioritise reasons, identifying the most important reason and subsidiary reasons. It is also important to identify links between reasons.

(b) The command instruction

‘How far’ will require you to use your knowledge and understanding of the impact of German foreign policy on international relations to produce a balanced ‘for and against’ the assertion in the question.

Terminal dates?

It is important that you confine your answer to the period 1897 to 1914.

The later date should end with the outbreak of the First World War.

ANSWER TO SUB-QUESTION (a)

The Germany of Wilhelm II embarked on a policy of Weltpolitik from 1897 which aimed to make Germany a world power alongside other world powers for a variety of reasons.

COMMENT

As this answer will usually be written in approximately 10 to 12 minutes this introduction is clearly focused. It gives a brief definition of Weltpolitik and makes a general analytical statement.

The most important reason why Germany adopted a policy of Weltpolitik was because the German government felt that it had become a major world power and deserved to possess a world standard empire. By 1897, Germany was the dominant Great Power on the European continent. It possessed the best trained army which had won spectacular victories over Austria and France between 1866 and 1871. Germany was also the continent’s most advanced economy. Only Britain had a larger economy by 1897. As a result, Germany wished to acquire an empire which would rival other European empires. Even France, who had been defeated by Germany in 1870-71 had a larger empire. According to Wilhelm II and his advisers, it was Germany’s destiny to become a world colonial empire.

COMMENT

This paragraph is clearly linked to the question. It prioritises the reasons for Weltpolitik. It makes a point, supports that point with factual evidence and gives a brief explanation at the end.

LINKS TO GERMANY 1848-1991

The information you need can be found on pages 101-106 

Linked to this desire was the decision to build a navy to rival the Royal Navy.

Wilhelm II and his advisers had been influence by the American admiral Alfred Mahan’s ideas expressed in ‘The Influence of Sea power upon History’. This suggested that sea power was an important element in acquiring world power status. It was seen as an expression of national power and prestige and would allow Germany to acquire and defend a world wide colonial empire.

COMMENT

This is a good paragraph offering clear links with the preceding paragraph.

LINKS TO GERMANY 1848-1991

The information you need can be found on pages 101 to 103

However, there was also a major domestic reason for embarking on this policy. Wilhelm II’s government feared the rise of the Socialist Party (SPD). Welpolitik was an attempt to create a coalition of parties in the Reichstag which would isolate the SPD. It was believed that Weltpolitik would be popular with German Conservatives, Liberals and Catholics. This was the policy of Sammlungspolitik, the domestic aspect of Weltpolitik.

COMMENT

Again this is a good paragraph. It links foreign policy (Weltpolitik) with its domestic variant (Sammlungspolitik). Argument is supported and sustained by detailed factual evidence.

The answer shows a command of key concepts and historical terms associated with the question.

LINKS TO GERMANY 1848-1991

The information you need can be found on pages 98-99

LEVEL OF PERFORMANCE

The answer is well focused and explanations are supported by detailed and appropriate factual evidence. The answer displays good links between reasons and offers clear explanations. The answer is well written and offers a coherent argument.

The answer was awarded Level 4 in the Mark Scheme 12 out of 12 marks.

ANSWER TO SUB-QUESTION (b)

German foreign policy was a major cause of tension between the Great Powers between 1897 and 1914.

COMMENT

This is a rather short introduction which offers only a limited link to the question. An introduction which sets out the focus for the argument to be discussed would be more appropriate.

LINKS WITH GERMANY 1848-1991

For an overview use pages 109-110

Germany’s decision to build a large navy causes increased tension with Britain. The German Navy laws of 1898, 1900 and 1906 aimed to make the German Navy as large as the Royal Navy. Britain regarded the navy as its major defense and the German decision led to the development of a major naval race between Britain and Germany from 1898 to 1914. Britain’s fear of German naval developments led Britain to end its colonial disputes with France in the Entente Cordiale of 1904 and with Russia in the Anglo-Russian Entente of 1907. As a result of German foreign policy, Britain had abandoned its policy of Splendid Isolation from European affairs and became an ally of France and Russia against Germany.

COMMENT

This paragraph is linked clearly to the question. It makes a clear analytical point and supports this was appropriate factual evidence.

LINKS TO GERMANY 1848-1991

The information you need can be found on pages 105-106

Germany’s decision to acquire colonies also created international tension between the Great Powers. In 1904-1905 Germany attempted to stop France acquiring Morocco. This sparked off the First Moroccan Crisis of 1905. More significant was the German attempt to force France to hand over colonial territory in Central Africa in the Second Moroccan or Agadir Crisis of 1911.

This led to a major deterioration of relations between Britain and France on one side and Germany on the other. Britain even mobilized the Royal Navy as possible preparation for war with Germany.

COMMENT

This is also a focused and analytical style paragraph. However, the supporting factual evidence is limited and not always linked clearly to the issue in the question.

By far the most important aspect of Weltpolitik was its apparent failure by 1912. Germany had attempted to acquire a large empire but had acquired very little actual territory, mainly in the Pacific. As a result, according to historians such as Fritz Fischer, by December 1912, Wilhelm II’s government took the high risk decision to try to achieve the goals of Weltpolitik through warfare, which was a major cause of the First World War.

COMMENT

This is a good summary of the success of Weltpolitik and offers a clear link between the policy and the outbreak of the First World War. A reference is made to historical interpretation.

LINKS TO GERMANY 1848-1991

The information you need can be found on pages 103-104

LINKS TO INTERNATIONAL RELATIONS 1879-2004

The information you need can be found on pages 40-42

However, German foreign policy was not the only cause of increased tension between the Great Powers. The collapse f the Turkish Empire in the Balkans from 1908 to 1914 was also another major issue. The Bosnian Crisis of 1908-09 brought Austria-Hungary and Russia into direct confrontation. The Balkan wars of 1912 and 1913 brought Austria-Hungary into direct confrontation with Serbia. The assassination of the heir apparent to the throne of Austria-Hungary in June 1914 was the immediate cause of the First World War. The assassin was a Bosnian Serb with alleged links to the Bosnian Government.

COMMENT

This paragraph attempts to offer a balanced view towards the question. It offers information about others factors, in particular, the Balkans. However, factual evidence is limited and the points made are undeveloped. No mention is made of the alliance system for instance.

LINKS TO INTERNATIONAL RELATIONS 1879-2004

The information you need can be found on pages 34-38

So, German foreign policy was an important factor in bringing about an increase in tension between the Great Powers.

COMMENT
This is a very short and limited conclusion. Although it offers a brief judgement it could have been linked more effectively with the points raised in the answer.

LEVEL OF PERFORMANCE

The answer shows explicit understanding of the demands of the question. A balanced answer is offered. However, the factors other than German foreign policy are limited in content and development. The answer shows an understanding of historical interpretation. It is well organised and coherent.

The answer was awarded a mark in Level 3 of the Mark Scheme of 17 out of a possible 24 marks.

Total Marks 29 out of 36 marks.
TRY PRODUCING YOUR OWN ANSWER

Use the guidance above to produce your own answers.

GERMANY 1945 to 1991.

Now try answering the following questions.

In the style of OCR

F962 Option B

Democracy and Dictatorship in Germany 1919-1963

How far was there an economic miracle in West Germany by 1963?

LINKS TO GERMANY 1848-1991

The information you need is on pages 209-212.

In the style of Edexcel.

Unit 1, Option E5

How far was Adenauer the main reason for the establishment and development of West Germany in the period to 1963?

LINKS TO GERMANY 1848-1991

The information you need is on pages 203-208

